43 / 54 )

=
ke

i
1

)

(

=7/K%8

I

~
-

=1

RER

N\ o\
~ | o
Ty

| Stenl | <

o | of OV © 3

+| SPefou]o

NN REED | LT

oloo|m|oo || oo

NNl = | <
™ —
<} | 1o

409

P
&

=K

N
{

PN

RN

(

UE

10m

i

10m=%x

UE

5m

5 mEKi#
3m3xk
1m3k

LLE O. 5m3xk

UE

3m

by
4

1TmlE
5m
Om

b
4

UE

o

i

.0m

3

EOEHEET SR

|

ZN=

+
"

%

7

KB

REY D

%z
Ei

=
n
i
5

JIGR

30

JIZE
7

o)

>

|

Ry
HEK H%

!
600
15, 000

A
o
o

RIRF
BR
&P

ll_%l“
X
0 K

REED
S

,,_u;éii:
N
.VW.W »

&5
S,
R
o\&w‘mﬁo.
&

1000m

800

200

100

1

TN

2 (T2 N 54445 EFTHERIL =R

#Rith 2 X (S=1:2,500) %

=

DR (L, E L i ERR & O &
R (6ETARZFE13285) LTHERLI=2DTHS, BITEREET 5.

-

SN,

CHE

A%

AZHT B3

RIFRICRK

TR

XX [

52 KEE

I

=3
=,

AR

Lf=T®

R

DWWTIE, 2igER

EYHBEFEIC

-~

O



